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20148 =& 2 3 9d=220II3 &AM
SN FOMBRAA
FH: I ZMEBEHO HASHAMS S/ I =HEEE)
@ MAS=0 230X (AE2=0013) (el =@
S BB SA(BH) - MEAMY - BHES 0f & o8 plEL" HlDE 2
FOolMET A 624,774 576,733 48,041
= 151,333 122,495 28,838
= 53,743 46,540 7,203
= 419,698 407,698 12,000
SRIZMESEO HASH(AISISX /I ZMESE) 582,274 546,233 36,041
= 151,333 122,495 28,838
= 53,743 46,540 7,203
i 377,198 377,198 0
NASEFQ g2 20 (d220II3) 582,274 546,233 36,041
= 151,333 122,495 28,838
= 53,743 46,540 7,203
i 377,198 377,198 0
ozzu el (=tl) 56,801 57,958 21,157
= 44,045 44,968 A 923
= 11,012 11,246 A 234
= 1,744 1,744 0
101 r24H] 56,801 57,958 A1,157
= 44,045 44,968 A 923
= 11,012 11,246 A 234
= 1,744 1,744 0
03 RIAHA2Z2XHE > 29,273 29,851 A578
O=HIEZ AL 27,529 28,107 A578
— oSS oAt Z2lAL AIHEI(EIE 3, 4HHEH) 2,294,080& x 18 123 27,529 28,107 A578
= 22,023 22,484 A 461
= 5,506 5,623 A117
04 JIZtH 22 a2+ 27,528 28,107 AB579
O=HIEZ AL 27,528 28,107 A579
— oSS oAt Z2lAL IHEI(EIEZ, 4HHEH) 2,294,000& x 18 123 27,528 28,107 AB579
= 22,022 22,484 AN 462




2AM:

Ha: RO|ZMBEZO YA (ANISX/IIZNERT
Oel: HASZ0 230N (ARSHIIB) CEERED
EM -3 -A(3H) - MEMY - BHAS Of At oH JIEH Hlw &2+
| = 5,506 5,623 17
NI T 134, 110 96,912 37,198
2 107,288 77,527 29,761
= 26,822 19,385 7,437
307 QI2+0| 134, 110 96,912 37,198
= 107,288 77,527 29,761
& 26,822 19,385 7,437
SEEREEN 134, 110 96,912 37,198
O2HEEAY 134,110 96,912 37,198
-832 Soib(222, 237 S 134, 110,0002! 134, 110 96,912 37,198
= 107,288 77,527 29,761
= 26,822 19,385 7,437
HRES (FOUMEXEA)(ASS/FHAHST) 42,500 30,500 12,000
BHNE(AZ20)(A220{712) 42,500 30,500 12,000
SHNE 42,500 30,500 12,000
802 BH&H 3| El 42,500 30,500 12,000
03 ULIE 42,500 30,500 12,000
onL3 S 42,500,0002! 42,500 30,500 12,000




